DHP

SK-DHP Hydraulic Chuck

SK-DHP & B 7] 4%

DHP

SK-DHP Hydraulic Chuck
SK-DHP & B2 71 4%

. BUSE EAF RF BE

%g Specification d Suit collet Wrench Weight
m SK30- DHP6-65 6 28 50 23 65 275 10 M5X0.8 T04 1.26
DHP6-80.5 6 28 50 44  80.5 275 10 M5X0.8 T04 1.35
DHP6-110 6 28 50 44 110 275 10 M5X0.8 T04 1.77
as DHP8-65 8 30 50 23 65 275 10 MeX1.0 T04 1.26
*J%E DHP8-80.5 8 30 50 44 80.5 275 10 MexX1.0 T04 1.38
DHP8-110 8 30 50 44 110 275 10 MexX1.0 TO04 1.84
DHP10-65 10 32 50 23 65 325 10 M6X1.0 T04 1.28
03 DHP10-80.5 10 32 50 44  80.5 325 10 M6X1.0 T04 1.40
;%% SK40- DHP10-110 10 32 50 44 110 325 10 MexX1.0 - T04 1.95
DHP12-65 12 34 50 23 65 375 10 MexX1.0 D12/0D12 T04 1.28
DHP12-80.5 12 34 50 44 80.5 375 10 MexX1.0 D12/0D12 T04 1.45
B DHP12-110 12 34 50 44 110 375 10 MexX1.0 D12/0D12 T04 2.00
§§ DHP14-75 14 36 50 30 75 375 10 M6xX1.0 - T04 1.40
i DHP14-80.5 14 36 50 44  80.5 375 10 M6X1.0 TO4 1.49
DHP14-110 14 36 50 44 110 375 10 MexX1.0 TO4 2.02
DHP16-75 16 38 50 30 75 425 10 M8X1.0 T04 1.44
*7% DHP16-80.5 16 38 50 48 80.5 425 10 M8X1.0 T04 1.55
1@4@ DHP16-110 16 38 50 48 110 425 10 M8X1.0 T04 2.21
: DHP18-75 18 41 50 30 75 425 10 M8X1.0 TO4 1.48
DHP18-80.5 18 41 50 48 80.5 425 10 M8X1.0 T04 1.58
DHP18-135 18 41 50 48 110 425 10 M8X1.0 - TO4 2.65
DHP20-75 20 43 50 30 75 425 10 M8X1.0 D20/0D20 T04 1.40
DHP20-80.5 20 43 50 48 80.5 425 10 M8X1.0 D20,/0D20 T04 1.65
DHP20-135 20 43 50 48 135 425 10 M8X1.0 D20,/0D20 T04 2.70
DHP25-80.5 25 57 66 26 805 51 10 M16X1.0 - T05 2.00
DHP32-80.5 32 63 80 26 805 55 10 MI16X1.0 D32/0D32 T05 2.20

HTH @_.—

B46 >< DEREK

See next page

n
I.
H g
nE
e
BUgE AR IRF BE .
Specification d Suit collet Wrench Weight %;
SK50- DHP6-90 6 28 50 44 90 275 10 M5X0.8 T04 4.03 L
DHP6-140 6 28 50 44 140 275 10 M5X0.8 TO4 4.65
DHP8-90 8 30 50 44 90 275 10 MexX1.0 TO4 4.06
DHP8-140 8 30 50 44 140 275 10 MexX1.0 TO4 4.68 LE
DHP10-90 10 32 50 44 90 325 10 M6X1.0 T04 4.08 o
DHP10-140 10 32 50 44 140 325 10 Mexl1.0 - TO4 4.71
DHP12-90 12 34 50 44 90 375 10 M6X1.0 D12/0D12 TO04 4.09
DHP12-140 12 34 50 44 140 375 10 M6X1.0 D12/0D12 TO4 4.73 9
DHP14-90 14 36 50 47 90 375 10 M6X1.0 - TO4 4.10 ;%é
DHP14-140 14 36 50 47 140 375 10 MexX1.0 TO4 4.75
DHP16-90 16 38 50 48 90 425 10 M8X1.0 T04 4.12
DHP16-140 16 38 50 48 140 425 10 M8X1.0 T04 4.81 B
DHP18-90 18 41 50 48 90 425 10 M8X1.0 T04 4.14 8
DHP18-140 18 41 50 48 140 425 10 M8X1.0 = T04 4.85 e
DHP20-80.5 20 43 50 44  80.5 425 10 M8X1.0 D20/0D20 TO4 4.11
DHP20-90 20 43 50 48 90 425 10 M8X1.0 D20/0D20 T04 4.35
DHP20-110 20 43 50 48 110 425 10 M8X1.0 D20/0D20 TO4 4.65 ;%
DHP20-140 20 43 50 48 140 425 10 M8X1.0 D20/0D20 TO4 4,95 ﬂE
DHP25-105 25 57 - 85.9 105 51 10 M16ex1.0 - T05 4.60 2
DHP25-140 25 57 - 120.9 140 51 10 M16X1.0 - T05 5.40
DHP32-115 32 63 - 95.9 115 55 10 M16X1.0 D32/0D32 T05 4.85
DHP32-140 32 63 - 120.9 140 55 10 M16X1.0 D32/0D32 T05 567
T RESKRTF, SRFEHTE,
Notice:Wrench is included, while collet shall be ordered separately.
%% 24 / Feature
EOHPTIE RS AR SHEIE. SREHEIMI, I4I%R4E,  WFor high-speed and high precision cutting;
W) EERE: G2.5; 20,000 rpm. M Balanced: G2.5; 20,000 rpm;
W30 & A BEEN0.003 mm. MRunout (X3D): < 0.003 mm.
>< DEREK




SF SF

SK-SF Shrink Fit Holder SK-SF Shrink Fit Holder
SK-SPEEf A 714 (—HE50 ) SK-SFrEE s s T14% ( —Bl=C)

MAX L -

50,000 LaMax)

min-' Ls(Min)
e <fels R I

m
AL
V . =5 : = &
”\ i 45 Specification L2 (Max) Ls (Min) Weight lng
A ! SK40- SF18-90 18 33 42 90 50 40 1.50 s
EE SF18-130 18 33 42 130 50 40 1.80
SF18-160 18 33 42 160 50 40 2.00
AIgE BE SF18-200 18 33 42 200 50 40 2.30
58 Specification d L2 (Max) Ls (Min) ~ Weight SF20-90 20 33 42 90 50 40 1.55 %3
At SK30- SF3-80 3 10 10 80 - 9 0.35 SF20-130 20 33 42 130 50 40 1.85 A
SF4-80 4 10 10 80 - 12 0.40 SF20-160 20 33 42 160 50 40 2.05
SF5-80 5 10 10 80 - 15 0.43 SF20-200 20 33 42 200 50 40 2.35
. SF6-80 6 21 27 80 28 18 0.45 SF25-100 25 44 53 100 55 45 1.65 o
7 SF8-80 8 21 27 80 34 24 0.50 SF25-130 25 44 53 130 55 45 1.90 7
SF10-80 10 24 32 80 40 30 0.55 SF25-160 25 44 53 160 55 45 2.20
SF12-80 12 24 32 80 40 30 0.62 SF25-200 25 44 53 200 55 45 2.50
SF14-80 14 27 34 80 42 32 0.65 SF32-100 32 44 53 100 60 50 2.00
22 SF16-80 16 27 34 80 42 32 0.68 SF32-130 32 44 53] 130 60 50 2.30 22
L SF18-80 18 33 42 80 50 40 0.71 SF32-160 32 44 53 160 60 50 2.60 =
SF20-90 20 33 42 90 50 40 0.75 SK50- SF6-100 6 21 27 100 28 18 3.70
SK40- SF3-90 3 10 10 90 - 9 1.00 SF6-130 6 21 27 130 28 18 3.80
z3 SF4-90 4 10 10 90 - 12 1.10 SF6-160 6 21 27 160 28 18 3.88 g3
2 s SF5-90 5 10 10 90 - 15 1.00 SF6-200 6 21 27 200 28 18 4.00 *7%5
SF6-90 6 21 27 90 28 18 1.15 SF8-100 8 21 27 100 34 24 3.60
SF6-130 6 21 27 130 28 18 1.20 SF8-130 8 21 27 130 34 24 3.70
e SF6-160 6 21 27 160 28 18 1.40 SF8-160 8 21 27 160 34 24 3.90 .
B SF6-200 6 21 27 200 28 18 1.90 SF8-200 8 21 27 200 34 24 4.00 &
5 SF8-90 3 21 27 90 34 24 1.15 SF10-100 10 24 32 100 40 30 3.65 g
8 SF8-130 8 21 27 130 34 24 1.30 SF10-130 10 24 32 130 40 30 3.78 .
SF8-160 8 21 27 160 34 24 1.50 SF10-160 10 24 32 160 40 30 4.00
SF8-200 8 21 27 200 34 24 1.90 SF10-200 10 24 32 200 40 30 4.15
SF10-90 10 24 32 90 40 30 1.20 SF12-100 12 24 32 100 40 30 3.70
SF10-130 10 24 32 130 40 30 1.50 SF12-130 12 24 32 130 40 30 3.80
SF10-160 10 24 32 160 40 30 1.80 SF12-160 12 24 32 160 40 30 4.10
SF10-200 10 24 32 200 40 30 1.90 SF12-200 12 24 32 200 40 30 4.25
SF12-90 12 24 32 90 40 30 1.30 SF14-100 14 27 34 100 42 32 3.70
SF12-130 12 24 32 130 40 30 1.60 SF14-130 14 27 34 130 42 32 3.80
SF12-160 12 24 32 160 40 30 1.80 SF14-160 14 27 34 160 42 32 4.10
SF12-200 12 24 32 200 40 30 2.00 SF14-200 14 27 34 200 42 32 4.25
SF14-90 14 27 34 90 42 32 1.30 SF16-100 16 27 34 100 42 32 3.75
SF14-130 14 27 34 130 42 32 1.60 SF16-130 16 27 34 130 42 32 3.88
SF14-160 14 27 34 160 42 32 1.80 SF16-160 16 27 34 160 42 32 4.20
SF14-200 14 27 34 200 42 32 2.00 SF16-200 16 27 34 200 42 32 4.50
SF16-90 16 27 34 90 42 32 1.40 SF18-100 18 33 42 100 50 40 3.75
SF16-130 16 27 34 130 42 32 1.70 SF18-130 18 33 42 130 50 40 3.88
SF16-160 16 27 34 160 42 32 1.95 SF18-160 18 33 42 160 50 40 4.20
SF16-200 16 27 34 200 42 32 2.20 SF18-200 18 33 42 200 50 40 4.50
WTE g mre g

See next page See next page

B48 >< DEREK >< DEREK B49




SF/DSF DC

SK-SF Shrink Fit Holder SK-DC Precision Slim Collet Chuck
SK-SFiEEREETIM ( —8EX ) SK-DC/VEF5 %5 Sk BE AN g2

L2(Max)

MAX
50,000 : MAX
min-' % La(Min) 50,000
‘ min-' A
LI : D3
oy : 2
SR 5=
Specification L2 (Max) L3 (Min) Weight s
g: SK50- SF20-100 20 33 42 100 50 40 3.80 % H T@ - - o 8 3
7 SF20-130 20 33 42 130 50 40 4.00 | “\ | ) 2z
SF20-160 20 33 42 160 50 40 4.30 EE
SF20-200 20 33 42 200 50 40 4.60
; SF25-100 25 44 53 100 55 45 3.82 i &= BAMR  WEERET  IEHER  RF BE .
5z SF25-130 25 44 53 130 55 45 4.05 Specification Figure L Sutcollet  Tensionscrew  Stopnut  Wrench  Weight 7z
" SF25-160 25 44 53 160 55 45 4.33 SK40- DC6-90 A 13 45 90 DC6 E050U450  ZD6-2 T04-L 1.05 "
SF25-200 25 44 53 200 55 45 4.65 DC8-90 A 22 53 90 DC8 E060U600 ZD8-1 TO5-L 1.10
SF32-100 32 44 53 100 60 50 4.00 DC10-90 B 28 74 90 DC10 EO80U300 /D10-2 TO6-L 1.20
=3 SF32-130 32 44 53 130 60 50 4.40 DC12-90 B 34 74 90 DC12 E100U350 /D12-1 TO8-L 1.28 2=
Pk SF32-160 32 44 53 160 60 50 4.70 SK50- DC10-110 A 28 57 110 DC10 EO80U800  ZD12-1 TO6-L 4.20 e
SF32-200 32 44 53 200 60 50 5.00 DC12-110 B 34 94 110 DC12 E100U350 ZD12-1 TO8-L 4.70
T RERIINF, AREFEHITHE,
- %% 85 / Feature Notice:Wrench is included, while collet shall be ordered separately. -
%S WEEEEEE: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm; 9
" W 3D5E 1S A BEE10.003 mm. WRunout (X3D): < 0.003 mm. % 25 / Feature i
WE) FERRE: G2.5; 30,000 rpm. WBalanced: G2.5; 30,000 rpm;
2 SK-DSF Shrink Fit Holder W3DARE [ BEB10.003 mm. WRunout (X3D): < 0.003 mm. .
w3 g
g | SKDSFE&E#ETIW (7HEX) &

BISR LERF =E=
Specification Wrench ~ Weight
SK40- DSF12-45 38 - 12 18 - 50 LO6 1.10
DSF12-75 38 - 12 48 - 75 LO6 1.40
DSF12-135 41 - 12 108 - 135 LO6 2.20
SK50- DSF12-75 38 65 12 25 21 75 LO6 4.00
DSF12-105 41 65 12 55 21 105 LO6 4.40
DSF12-135 41 65 12 85 21 135 LO6 4.70

i MERSIRF,
Notice:Wrench is included.

%% 2} / Feature
WEFERE: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm;
W3DAEE [ BkEN0.003 mm. HWRunout (X3D): < 0.003 mm.

>< DEREK >< DEREK




GSK GSK

SK-GSK High Speed IVIiIIin§ Holder SK-GSK High Speed I\/IiIIin§ Holder
SK-GSKE EI5Z R R A8 SK-GSKE % B R A2

MAX D
45,000 L e
min-' ’F’f
U [ ] i A 7 —— - n
B i3 Elan NN, B
\%—ML Speciﬁﬁc%tion Figu_:t_a D Suit collet Weiit %g
- L SK50- GSK10-105 A 975 27 275 - 206.75 105  M10x1.5 DSK10 3.78 %%
GSK10-135 A 975 27 275 - 236.75 135  M10xl1.5 DSK10 4.00 12
GSK10-165 A 975 27 275 - 266.75 165  M10x1.5 DSK10 4.33
GSK10-200L B 97.5 27 27.5 35.2 301.75 200 M10x1.5 DSK10 4.75
GSK16-100 A 97.5 40 405 - 201.75 100 M16x2 DSK16 3.93
GSK16-125 A 975 40 405 - 226.75 125 M16x2 DSK16 4.17 g1
GSK16-150 A 975 40 405 - 251.75 150 M16x2 DSK16 4.49 bk
GSK16-200L B 975 40 40.5 484  301.75 200 M16x2 DSK16 5.50
GSK16-250L B 975 40 40.5 484  351.75 250 M16x2 DSK16 6.50
o RISk &= BAMX BB GSK20-100 A 975 48 485 - 201.75 100 M16x2 DSK20 4.10 .
5 Specification  Figwe D Sutcollet  Weight GSK20-125 A 97.5 48 485 . 22675 125  M16x2 DSK20  4.32 52
" SK30- GSK6-70 A 50 19.5 20 - 117.8 70 M6x1 DSK6 0.45 GSK20-150 A 975 48 485 - 251.75 150 M16x2 DSK20 4.65 "
GSK6-100 A 50 19.5 20 - 147.8 100 Méx1 DSK6 0.64 GSK20-200 A 97.5 48 485 - 301.75 200 M16x2 DSK20 5.75
) GSK10-70 A 50 27 27.5 - 117.8 70  M10x1.5  DSKIO 0.46 GSK20-250L B 975 48 485 554  351.75 250 M16x2 DSK20 6.78
21 GSK10-100 A 50 27 275 - 147.8 100 M10xl1.5  DSKI10 0.70 GSK20-300L B 97.5 48 485 554  401.75 300 M16x2 DSK20 7.80 22
w” GSK16-100 A 50 40 40.5 - 147.8 100 M16x2 DSK16 1.00 GSK25-100 A 975 55 55 - 201.75 100 M20x2 DSK25 4.10 L
GSK16-120 A 50 40 40.5 - 167.8 120 M16x2 DSK16 1.25 GSK25-125 A 975 55 55 - 226.75 125 M20x2 DSK25 4.62
GSK16-150 A 50 40 40.5 - 197.8 150 M16x2 DSK16 1.35 GSK25-150 A 975 55 55 - 251.75 150 M20x2 DSK25 5.10
73 GSK20-70 A 50 48 485 - 117.8 70 M16x2 DSK20 0.75 GSK25-200 A 975 55 55 - 301.75 200 M20x2 DSK25 5.81 23
hE GSK20-100 A 50 48 48.5 - 147.8 100 M16x2 DSK20 1.15 GSK25-250L B 97.5 55 5l 61.4  351.75 250 M20x2 DSK25 6.85 Js
GSK25-100 A 50 55 55 - 147.8 100 M20x2 DSK25 1.20 GSK25-300L B 97.5 55 55 61.4  401.75 300 M20x2 DSK25 8.00
SK40- GSK6-70 A 6355 195 20 - 138470 Méxl DSK6 1.05 S BRERFEEBSE, WHEAE DO H KR IE S E k2 R B73E .,
- GSK6-100 A 6355 19.5 20 - 168.4 100 M6x1 DSK6 1.25 Notice: Collets and wrenchs shall be ordered separately. e
B GSK6-120 A 63.55 19.5 20 - 188.4 120 Méx1 DSK6 1.39 ]
#e GSK6-150L B 6355 19.5 20 26.4 218.4 150 M6x1 DSK6 1.55 %% 25 / Feature #
- GSK10-70 A 63.55 27 27.5 - 1384 70  M10x1.5  DSKIO 1.10 P y
GSK10-100 A 63.55 27 27.5 _ 168.4 100 M10x1.5 DSK10 1.30 .EJ'TF[Q_I&ITE G2.5; 25,000 rpMmeo M Balanced: G25, 25,000 rpm;
GSK10-120 A 63.55 27 275 - 1884 120 MIOx1.5 DSKI0  1.42 W3DAZAEE1 B E)0.005 mm. MRunout (X3D): < 0.005 mm.
GSK10-150 A 63.55 27 27.5 - 218.4 150 M10x1.5  DSKI0 1.55
GSK10-200L B 63.55 27 275 33.7 2684 200 M10xl1.5  DSKI10 1.85
GSK16-70 A 63.55 40 40.5 - 138.4 70 M16x2 DSK16 1.21
GSK16-100 A 63.55 40 40.5 - 168.4 100 M16x2 DSK16 1.42
GSK16-120 A 63.55 40 40.5 - 188.4 120 M16x2 DSK16 1.61
GSK16-150 A 63.55 40 40.5 - 218.4 150 M16x2 DSK16 1.80
GSK16-200L B 63.55 40 40.5 45.7 268.4 200 M16x2 DSK16 1.95
GSK20-70 A 63.55 48 48.5 - 138.4 70 M16x2 DSK20 1.52
GSK20-100 A 63.55 48 48.5 - 168.4 100 M16x2 DSK20 1.68
GSK20-120 A 63.55 48 48.5 - 188.4 120 M16x2 DSK20 1.90
GSK20-150 A 63.55 48 485 - 218.4 150 M16x2 DSK20 2.10
GSK20-200L B  63.55 48 485 55.7 268.4 200 M16x2 DSK20 2.30
GSK25-100 A 63.55 55 55 - 168.4 100 M20x2 DSK25 1.81
GSK25-120 A 63.55 55 55 - 188.4 120 M20x2 DSK25 2.05
GSK25-150 A 63.55 55 55 - 218.4 150 M20x2 DSK25 2.30
GSK25-200L B 63.55 55 55 59.9  268.4 200 M20x2 DSK25 2.65

See next page =

>< DEREK >< DEREK




DSK DSK

SK-DSK High Speed I\/Iilliné Holder SK-DSK High Speed I\/Iilliné Holder
SK-DSK& 1B 15 % =) S A A2 SK-DSKS i 15 % =] R A2

e il R mAEE  ER m
Specification Figure D Suit colet ~ Weight H §
SK50- DSK10-10s A 97.5 27.5 275 - 206.75 105  M10x1.5 DSK10 3.78 ,lj
DSK10-135 A 975 275 275 - 236.75 135  M10x1.5 DSK10 4.00 e
DSK10-165 A  97.5 27.5 275 - 266.75 165  M10x1.5 DSK10 4.33
, . DSK10-2000 B 975 275 275 352 301.75 200 MI10xl.5 DSK10 4.75
e DSK16-100 A 97.5 40.5 40.5 - 201.75 100 M16x2 DSK16 3.93
i} % @ f DSk16-125 A 97.5 405 405 - 22675 125  MI6x2 DSK16  4.17 3
Az — DSK16-150 A 97.5 40.5 40.5 - 251.75 150 M16x2 DSK16 4.49 ot
B o ‘ DSK16-200L B  97.5 40.5 40.5 48.4 301.75 200 M16x2 DSK16 5.50
DSK16-250L B  97.5 405 40.5 484 351.75 250 M16x2 DSK16 6.50
. Blgk ER BAfR BE DSK20-100 A 975 485 485 - 201.75 100 M16x2 DSK20 4.10 o
7 Specification  Figure D Suit collet  Weight DSK20125 A 97.5 485 485 -  226.75 125  M16x2  DSK20  4.32 3
SK30- DSK6-70 A 50 20 20 - 117.8 70 M6x1 DSK6 0.45 DSK20-150 A 97.5 485 485 - 251.75 150 M16x2 DSK20 4.65 "
DSK6-100 A 50 20 20 - 147.8 100 Méx1 DSK6 0.64 DSK20-200 A 97.5 485 485 - 301.75 200 M16x2 DSK20 5.75
DSK10-70 A 50 27.5 275 - 117.8 70 ~ MI10x1.5 DSK10 0.46 DSK20-250L B  97.5 485 485 554 351.75 250 M16x2 DSK20 6.78
23 DSK10-100 A 50 27,5 27.5 - 147.8 100  MI10x1.5  DSKIO 0.70 DSK20-300L B 975 485 485 554 401.75 300  M16x2 DSK20 7.80 22
L DSK16-100 A 50 40.5 40.5 - 147.8 100 M16x2 DSK16 1.00 DSK25-100 A 97.5 55 55 B} 201.75 100 M20x2 DSK25 4.1 W
DSK16-120 A 50 40.5 40.5 - 167.8 120 M16x2 DSK16 1.25 DSK25-125 A 97.5 55 55 B 226.75 125 M20x2 DSK25 4.62
DSK16-150 A 50 40.5 40.5 - 197.8 150 M16x2 DSK16 1.35 DSK25-150 A 97.5 55 55 B} 251.75 150 M20x2 DSK25 510
z3 Dsk2o-70 A 50 485 485 - 1178 70  Ml6x2  DSK20 0.7 DSk25-200 A 975 55 55 - 30175 200  M20x2 DSK25  5.81 73
e DSK20-100 A 50 485 485 - 147.8 100  M16x2 DSK20 1.15 DSK25-250L B 97.5 55 55 61.4 351.75 250  M20x2 DSK25 6.85 75
DSK25-100 2 - 350 28 gg - 1‘;273-8 1000 M260X2 DSSK265 1-(2)0 DSK25-300L B 97.5 55 55  61.4 401.75 300  M20x2 DSK25 8.00
SK40- DSK6-70 .55 - 138.4 7 M6x1 DSK 1.05 T, HREIREEE T 1t oK 42 B B2 T MLk E JESE B B73E
» DSKe-100 A 6355 20 20 - 1684 100  Mexl  DSK6  1.25 e A e A e e e e .
4 DSK6-120 A 63.55 20 20 - 188.4 120 M6x1 DSK6 1.39 .
1¢§ DSK6-150L B 63.55 20 20 26.4 218.4 150 M6x1 DSK6 1.55 % B / Feature #:
8 DSK10-70 A 6355 275 27.5 - 138.4 70  M10x1.5  DSK10 1.10 2
DSK10-100 A 63.55 27.5 27.5 - 168.4 100 M10x1.5 DSK10 1.30 WEEERRE: G2.5; 20,000 rpms M Balanced: G2.5; 20,000 rpm;
DSK10-120 A  63.55 27.5 27.5 - 188.4 120 M10xl1.5  DSK10 1.42 W 3DEE & [ BkE10.005 mm. ERunout (X3D): < 0.005 mm.
DSK10-150 A  63.55 27.5 27.5 - 218.4 150 M10x1.5  DSK10 1.55
DSK10-200L B  63.55 27.5 275 33.7 2684 200 MI10x1.5  DSK10 1.85
DSK16-70 A 63.55 40.5 405 - 138.4 70 M16x2 DSK16 1.21
DSK16-100 A  63.55 40.5 40.5 - 168.4 100  Ml6x2 DSK16 1.42
DSK16-120 A  63.55 40.5 40.5 - 188.4 120  M16x2 DSK16 1.61
DSK16-150 A  63.55 40.5 40.5 - 218.4 150  M16x2 DSK16 1.80
DSK16-200L B  63.55 40.5 40.5 45.7 2684 200  M16x2 DSK16 1.95
DSK20-70 A 63.55 48.5 48.5 - 138.4 70 M16x2 DSK20 1.52
DSK20-100 A  63.55 485 485 - 168.4 100  M16x2 DSK20 1.68
DSK20-120 A  63.55 485 485 - 188.4 120  M16x2 DSK20 1.90
DSK20-150 A  63.55 48.5 485 - 218.4 150  M16x2 DSK20 2.10
DSK20-200L B  63.55 485 485 55.7 2684 200  M16x2 DSK20 2.30
DSK25-100 A  63.55 55 55 - 168.4 100  M20x2 DSK25 1.81
DSK25-120 A 63.55 55 55 - 188.4 120  M20x2 DSK25 2.05
DSK25-150 A 63.55 55 55 - 218.4 150  M20x2 DSK25 2.30
DSK25-200L B 63.55 55 55 59.9 268.4 200  M20x2 DSK25 2.65

HTH gl.—
See next page =

>< DEREK >< DEREK




ER ER/VER

SK-ER Sprm Collet Chuck
SK EREE [ 15 5 B SKER Spring Collet, Chuck

BUSE
Specification
SK50- ER25-70 97.5 42 25 42 70 171.75 3.64 7:JED o
ER25-100 97.5 42 25 42 100 201.75 4.26 Gy E
ER25-150 97.5 42 25 42 150 251.75 4.54 ’7]‘§
L ER25-200 97.5 42 25 42 200 301.75 5.01 e
@ = ER32-80 97.5 50 32 50 80 181.75 3.80
- Y L ER32-120 97.5 50 32 50 120 221.75 4.35
ER32-160 97.5 50 32 50 160 261.75 4.82
T3 R =8 ER32-200 97.5 50 32 50 200 301.75 5.32 zs
N e = ER40-80 97.5 63 40 63 80 181.75 3.93 S
7ng 72
# C'ﬁcat'on : o g & - - e ER40-120 97.5 63 40 63 120 221.75 4.86 "
- ER11-60 50 19 11 19 60 127.8 0.45 ER40-160 97.5 63 40 63 160 261.75 5.51
ER16:70 50 28 16 28 70 117.8 0.52 ER40-200 97.5 63 40 63 200 301.75 6.21
w ER16'100 50 28 ].6 28 100 1478 064 E' ﬁ%*uﬁ%%ﬂﬁé‘]—% W5
33 5 Gl B) RBo =3
Z: ERIE] 50 34 20 34 70 117.8 0.57 Notice: Collets'and wrenchs shall be ordered separately. 7
ER20-100 50 34 20 34 100 147.8 0.76
ER25-70 50 42 25 42 70 117.8 0.66
ER32-70 50 50 32 50 70 117.8 0.72 _
23 SK40- ER11-80 63.55 19 11 19 80 148.4 0.70 SK-VER Tapping Chuck 24
s ER11-125 63.55 19 11 19 125 193.4 0.96 SK-VERR A= B (E T F T1 4R o
ER16-70 63.55 28 16 28 70 138.4 1.08
ER16-100 63.55 28 16 28 100 168.4 1.21
B ER16-125 63.55 28 16 28 125 193.4 1.30 -
8 ER16-150 63.55 28 16 28 150 218.4 1.44 8
w ER20-70 63.55 34 20 34 70 138.4 1.12 w2
ER20-100 63.55 34 20 34 100 168.4 1.33 ) -
ER20-135 63.55 34 20 34 135 203.4 1.48
78 ER20-160 63.55 34 20 34 160 228.4 1.65 oy
B ER25-70 63.55 42 25 42 70 138.4 1.22 % L
"y ER25-100 63.55 42 25 42 100 168.4 1.49 5 s
i ER25-150 63.55 42 25 42 150 218.4 1.97 P
= A A o, ey A
ER32-100 63 '5 5 50 3 50 100 16 8' 4 ] '7 0 SpeC|ﬁcat|on F2 Tapping capacity Suit extender Weight
ER40-80 63.55 63 40 63 30 148.4 1.62 VER20-80 52 25 80 0.2 1 M5-M16 VER20-M26 1.22
ERA0-135 6355 63 20 63 135 2184 5 75 VER32-106 72 40 106 o.g 1 M10-M24 VER32-M3(2) é.71
SK50- ER16-100 975 28 16 28 100 201.75 3.77 VERAO-115 87 50 115 0. L M14-M33 YER4OM3 L9
SK50- VER16-53 43.5 20 53 0.2 1 M3-M12 VER16-M24 3.36
ER16-135 97.5 28 16 28 135 236.75 3.95
VER20-83 52 25 83 0.2 1 M5-M16 VER20-M26 3.55
ER16-160 97.5 28 16 28 160 261.75 4.04
VER25-74 60 32 74 0.2 1 M6-M20 VER25-M28 3.65
ER16-200 97.5 28 16 28 200 301.75 5.04
VER32-100 72 40 100 0.2 1 M10-M24 VER32-M30 4.15
ER20-100 97.5 34 20 34 100 201.75 3.86
VER40-115 87 50 115 0.2 1 M14-M33 VER40-M32 4.35
ER20-135 97.5 34 20 34 135 236.75 4.08 . 3k IR T B B TR
ER20-160 el o 20 Je L0 20172 4.22 Notlce Collets aﬁad wrenchs shall be ordered separately.
HTH nN=—
See next page << 3 % / Feature
WEZREHAHERSZE®0% L, M Tap tool life increased by 80% and above;
BEFIR SN T A ERER2-AME, W Work efficiency increased 2 to 4 times;
EEEESREN TS ST, M Better surface quality;
B35 FHERI A E i e s W With ER tapping collet;
W R R R M Best choice for squeeze taps.
WiBBAHEE,

>< DEREK >< DEREK




TER

SK-TER Tapping Chuck
SK-TER{H#E TA ZF 25 T 4

jlel

13mm
5mm

di

TPG/TPM

SK-TPG Rigid Tapping Chuck
SK-TPGR M I ZF T 4%

=
=

MMainly used on machine center and CNC milling machine for tapping.

>< DEREK

B58

RIS A WogEH 0 ER
%g Specification Suit collet Tapping capacity ~ Weight
w SK40- TER16-120 63.55 28 120 188.4 ER16 M3-M10 1.10
TER16-150 63.55 28 150 218.4 ER16 M3-M10 1.40
TER20-100 63.55 34 100 168.4 ER20 M3-M16 1.22
® 3 TER20-150 63.55 34 150 218.4 ER20 M3-M16 1.70
pES TER20-200 63.55 28 200 268.4 ER20 M3-M16 2.20
TER32-120 63.55 50 120 188.4 ER32 M3-M27 1.52
SK50- TER16-120 97.50 28 120 221.75 ER16 M3-M10 3.80
. TER16-150 97.50 28 150 251.75 ER16 M3-M10 4.12
%; TER20-100 97.50 34 100 201.75 ER20 M3-M16 3.83
1w TER20-150 97.50 34 150 251.75 ER20 M3-M16 4.45
TER20-200 97.50 28 200 301.75 ER20 M3-M16 5.00
TER32-120 97.50 50 120 221.75 ER32 M3-M27 4.40
B2 e BRI FEEBRTE,
9z Notice: Collets and wrenchs shall be ordered separately.
2z
%5 24 / Feature
g% W F 25 {8 FERE se sc 4y, BIETEIRMEFRRE ERBIR WL,
;{Tg AR TR EABR A T2 EhER 5T, DURARFAOHLEE AT 1818 P AR SR B (IR
2 WA T EE A F R OEFINCNCEL RIS o
B Clamped with ER spring collect, please check the innsize of ER collet When you choose .
H The tapping head of this holder designed with floating tap, the tapping torque is transmitted through the ball inside the floating tap holder.

D I,
= g
= 73
el
B35
g% HEARK LENRF WFaES z
Specification Suit collet Wrench Tapping capacity 2
SK40- TPG312 44 65 M8X1P TPE312 LO6 M3-M12 1.23 "
TPG1024 56 75 M10X1P TPE1024 L08 M10-M24 1.39
SK50- TPG312 44 80 M8X1P TPE312 LO6 M3-M12 3.88
TPG1024 56 80 M10X1P TPE1024 L08 M10-M24 4.09 g
Bk EEB/ATHE, E
Notlce CoIIets shall be ordered separately.

% 25 / Feature 03
BEATSREERSEIEMT W For high precision tapping; e
W DR RS A, W With internal coolant hole;

W EE 2 SRR AR R R M Design for high speed and rigid tapping;
MR H B EMREE W Short and compact design. B
23
b
SK-TPM Tapping Chuck With High Rigidity -4
SK-TPM#H 71 {lR#E T ZF 71 4R £
J Fi»
s
_ _ — [
[ B

L1

B35 M B7879

Blgk HEARR BFRES 58
Specification Suit collet  Tapping capacity ~ Weight
SK40- TPM316 50 10 20 96 163 TPD316 M3-M16 1.56
TPM830 66 10 25 143.6 230 TPD830 M8-M30 2.62
SK50- TPM316 50 10 20 96 163 TPD316 M3-M16 4.24
TPM830 66 10 25(80) 143.6 230 TPD830 M8-M30 4.77
¥ Bk EEBITHE,
Notice: Collets shall be ordered separately.
>< DEREK




HPM/HPC MLC

SK-HPM Hig h Speed Milling Chuck SK-MLC Power Milling Chuck
SK-HPM 5 3346 2738 ) 84 7] 5 o8 SK-MLC32 71 i e A48

n
I.
i
BlgE g 18 F = 5% EZks) 7z
Specification Range Suit collet Weight L
SK30- HPM20-75 6-20 54 20 75 SC20 1.80
SK40- HPM20-80 6-20 54 20 80 SC20 2.40
HPM20-105 6-20 54 20 105 SC20 2.50 .
HPM20-135 6-20 54 20 135 SC20 2.80 %E
HPM32-105 6-32 68 32 105 SC32 2.80 v — S = e
HPM32-135 6-32 68 32 135 SC32 3.00 Spefﬁq}’ztion %ﬁ;ﬁ w%?ﬁt
R L o 2 el oo e SK30- MLC20-85 6-20 51.5 20 85 SC20 1.90
%E HPM32-110 6-32 68 32 110 SC32 5 20 MLC20-100 6-20 5.5 20 100 SC20 2.10 ;:;f
we HPM32-135 6-32 63 32 135 SC32 590 MLC32-135 6-32 70.5 32 135 SC32 3.00 B
SK40- MLC20-85 6-20 51.5 20 85 SC20 2.40
. T MLC20-100 6-20 51.5 20 100 SC20 2.50
N SKHPC Hig h speed Milling Chuck MLC20-135 6-20 51.5 20 135 5C20 2.80 o
5 SKHPCTR AR 58 718 71 5K 5R MLC32-105 6-32 70.5 32 105 SC32 2.80 5
" MLC32-135 6-32 70.5 32 135 SC32 3.10 "
SK50- MLC20-105 6-20 51.5 20 105 SC20 4.50
MLC20-150 6-20 5.5 20 150 SC20 4.90
3 MLC32-85 6-32 70.5 32 85 SC32 4.50 G
95 MLC32-110 6-32 70.5 32 110 SC32 5.20 9s
" MLC32-135 6-32 70.5 32 135 SC32 5.90 "
MLC42-110 6-42 86.0 42 110 SC42 6.00
. MLC42-165 6-42 86.0 42 165 SC42 7.40 e
4 RlgE : SRS BE iE: WMERIRF, HRFEBHITE, i
23 Specification Suit collet Weight Notice:Wrench is mcIuded while collet shall be ordered separately. e
: SK30- HPC16-70 316 46 16 70 SC16 1.40 y
HPC20-75 6-20 51.5 20 75 SC20 1.80 4 & / Feature
S ———
HPC16-135 316 46 16 135 SC16 2.30 MUBE SR T AR RS, y -
HPC20-80 6-20 515 20 80 S620 540 W 3L 88 T) R BN AR ﬁﬁiﬁ‘rgijc.abjlﬁ’_ﬁﬁ’aiﬁéuml,_ RJEEJ%%EO.QZmnjO
HPC20-105 6-20 51.5 20 105 SC20 250 HThe tool holder uses fou_r speua_l layers with 220 pieces bearing arranged in particular. _
HPG20-135 6-20 51.5 20 135 SC20 280 M It canreduce the locking re§|§tanced and also show be.st performance on heavy cutting.
HPC32-105 6-32 70.5 32 105 SC32 280 B The usual length of power milling chuck show that the highest runout accuracy canreach to 0.02mm.
HPC32-135 6-32 70.5 32 135 SC32 3.00 .
SK50- HPC16-90 316 16 16 90 SC16 3.90 SK-MLC Power Chuck Kit
HPC16-110 3-16 46 16 110 SC16 4.10 SK-MLC3& /1 5 sk AR B =570
HPC16-135 3-16 46 16 135 SC16 4.30
HPC16-150 3-16 46 16 150 SC16 4.50
HPGC20-105 6-20 51.5 20 105 SC20 4.50 T " = =
HPC20-135 6-20 51.5 20 135 SC20 4.70 RIS 3k HE =8
HPC20-150 6-20 51.5 20 150 $C20 4.90 Specification Collet PCS/SET
HPC32-110 6-32 70.5 32 110 SC32 5.20 SK40- MLC20-100-5PCS SC20-6,8,10,12,16 5 7.30
HPC32-135 6-32 70.5 32 135 SC32 5.90 MLC32-105-7PCS SC32-6,8,10,12,16,20,25 7 7.80
HPC32-165 6-32 70.5 32 165 SC32 6.60 SK50- MLC20-105-5PCS SC20-6,8,10,12,16 5 7.50
i BEBSRTE, GREEBITE, MLC32-110-7PCS SC32-6,8,10,12,16,20,25 7 8.40
Notice:Wrenchis mcIuded wh|Ie collet shall be ordered separately. MLC42-110-8PCS SC42-6,8,10,12,16,20,25,32 8 11.40
%% 2} / Feature
WEEERE: G6.3; 15,000 rpm. WBalanced: G6.3; 15,000 rpm;
W3DE&E [EBEEN0.02 mm. BWRunout (X3D): < 0.02 mm.

B60 >< DEREK ;< DEREK




SLN

SK-SLN Side Lock Holder
SK-SLN{EI & =X 71 4%

MTA/MTB

SK-MTA Morse Taper Holder
SK-MTAR R#ETIH (EBRER )

L1

-
\t I %
7z
% E
il L
B85
2 BUgE 3
ks Specification . ke
SK30- MTA1-50 1 50 25 50 97.8 0.42
MTA2-50 2 50 32 50 97.8 0.50
L MTA3-80 3 50 40 80 127.8 0.60 .
7z SK40- MTA1-50 1 63.55 25 50 118.4 0.95 7Z
" MTA2-50 2 63.55 32 50 118.4 1.00 "
MTA3-70 3 63.55 40 70 138.4 1.13
MTA4-95 4 63.55 48 95 163.4 1.35
°F SK50- MTA1-45 1 97.50 25 45 146.75 3.59 0z
# Rlgg By fImERRIRE] EHE MTA2-60 2 97.50 32 60 161.75 3.63 HE
Specification Figure Side-lock screw  Weight MTA3-65 3 97.50 40 65 166.75 3.65
SK30- SLN6-50 A 6 25 50 18 - 97.8 MO60U080 0.41 MTA4-95 4 97.50 48 95 196.75 3.88
. SLN8-50 A 8 28 50 18 - 97.8 MO80U100 0.46 MTA5-105 5 97.50 63 105 206.75 3.74 .
S SLN10-50 A 10 35 50 20 - 97.8  M100U120 0.54 S
w SLN12-50 A 12 42 50 22.5 - 97.8 M120U140 0.61 w
SLN16-63 A 16 48 63 24 110.8  M140U160 0.85
SK40- SLN6-50 A 6 25 50 18 118.4  MO060U080 1.00 gﬁ-M%gMgésf’?gg%e{ﬁH?Egﬁé%’5 )
RE SLN8-50 A 8 28 50 18 118.4  MO080U100 1.01 = RIS 5 7
L SLN10-50 A 10 35 50 20 118.4  M100U100 1.15 me
#s SLN12-50 A 12 42 50 22.5 118.4  M120U140 1.26 L g
) SLN16-63 A 16 48 63 24 131.4  M140U160 1.31 y
SLN20-63 A 20 52 63 25 - 131.4  M160U160 1.33
SLN25-100 B 25 65 100 24 25 168.4 M180Z180P 2.32
SLN32-105 B 32 72 105 24 28 168.4 M200Z180P 2.37
SK50- SLN6-63 A 6 25 63 18 - 164.75 M060U080 3.12
SLN8-63 A 8 28 63 18 164.75 M080U100 3.15
SLN10-63 A 10 35 63 20 164.75  M100U100 3.63
SLN12-63 A 12 42 63 22.5 164.75 M120U140 3.86
SLN16-63 A 16 48 63 24 164.75 M140U160 3.90
SLN20-63 A 20 52 63 25 - 164.75 M160U160 3.93 " e e =
SLN25-80 B 25 65 80 24 25  181.75 M180Z180P 4.62 Spe(?'i%ﬁcrétion " Terf—‘;%;ffﬂvv Sge W%ﬁt
SLN32-100 B 32 72 100 24 25  201.75 M200Z180P 4.80 :
SLN40-105 B 40 90 105 30 22 201.75 M200Z180P 5.2 SK30- MTB1-50 1 50 25 12.065 50 97.8 EO60U160 ®10-014 0.50
SLN42-100 B 42 90 100 30 32 201.75 M2007180P 6.00 MTB2-60 2 50 32 17.780 60 107.8 SK30-45-MT2 O16-022 0.55
. R EE BB, MTB3-75 3 50 40 23.825 75 122.8  SK30-45-MT3  ©24-032  0.65
MTB2-50 2 63.55 32 17.780 50 118.4 E100U300-MTB ®16-®22  1.00
MTB3-70 3 63.55 40 23.825 70 138.4  SK40-45-MT3 ®24-032 1.13
MTB4-95 4 63.55 48 31.267 95 163.4  SKA40-45-MT4 ®32-®50 1.35
SK50- MTB1-45 1 97.50 25 12.065 45 146.75 E060U250 ©10-014  3.59
MTB2-60 2 9750 32 17.780 60 161.75 E100U350 ©16-®22  3.64
MTB3-65 3 97.50 40 23.825 65 166.75 E120U400 ®24-032  3.60
MTB4-95 4 97.50 48 31.267 95 196.75 E160U400-MTB ®32-050  3.88
MTB5-105 5 97.50 63 44.399 105 206.75 SK50-45-MT5  ®55-060  3.74

Notice:Tension screw is included.

»< DEREK §I DEREK




SPU/FMB

SK-SPU Dirill Chuck Holder
SK-SPUE #= =\ #3558 71 47

SL0O/CS0/PB

SK-SLO Oil-feed Holder
SK-SLOjH B& 71 4R

[
i g n
\ m I.
= ; | i
] IS Lo
X *7% 3
— PT" POSITION BLOCK .
Y RSk AERRET S8
. Specification Side-lock screw  Weight .
75 g 25
7 Specification SK40- 5L032-150 72 32 50 15 15 150  60/65 M120U200 5.35 7z
SK30- SPUS-80 50 37 3 30 55 136.8 0.04 0.72 $L040-150 7240 50 18 19 150  60/65 M140U160 5.04
SPU13-120 50 50 13 120 75 179.8 0.04 1.70 SK50- SL032-160 72 32 50 15 15 160 80/82 M120U200 8.64
@3 SK40- SPU8-75 63.55 37 8 75 55 152.4 0.04 1.36 SL040-160 72 40 50 18 19 160 80/82 M140U160 8.35 H
Az SPU13-110 63.55 50 13 110 75 180.4 0.04 1.76 R * : e . yip=
e E: MERSIRTF, FTIER, KERSHEEEZFOERBBIR, "
SPU16-125 63.55 57 16 125 80 190.4 0.04 2.18 Notice:1.Wrenchis included: 2.Before order please check the distance B.
SK50- SPU8-75 97.50 37 8 75 55 185.75 0.04 4.10
SPU13-100 97.50 50 13 100 75 213.75 0.04 4.50
5 - ﬁ?;;l:é?&% a0 L 1 e 00 cL VR . v CSO Oilfeed Holder Reducing Sleeve L
JAE 3 = HS o N
Notice:Wrench is included. CSOit i T1 &
-5 | SKFMB Face Milling Holder 33
75 SK-FMB¥ T £t 71 4% E
" R "
Specification D] Lo sz
‘ T CSO0 32-16 53 32 16 10 15 15 65 0.40 |
4 Af 58 v] A 32-20 53 32 20 10 15 15 65 0.35 Z0Enz i
*s =1 L 32-25 58 32 25 10 15 15 65 0.26 . < *
L 40-16 63 40 16 10 18 19 75 0.74
40-20 63 40 20 10 18 19 75 0.68 N ‘
40-25 63 40 25 10 18 19 75 059 5
. / = 40-32 63 40 32 10 18 19 75 041 L
iZit] PB Oil-feed Holder Positioning Block
% Lemj L — PBit % .- 8152
RSk B~ TIRRSHEIES]  BE @ BHE
Specification Figure L Lockingscrewforcutter Washer Weight FymE =2
SK30- FMB22-35 A 22 26 47 35 18 14 100.8  EL00U300 - 0.70 Specification ~ Weight PR o6
FMB27-35 A 27 33 58 35 20 16 102.8 E120U300 FM-1 1.00
SK4O-FMB22-35 A 22 26 47 35 18 14 1214  E100U300 - 1.20 BT40-PB30-35 0.93 a1 ey ls
FMB27-60 A 27 33 58 60 20 16 148.4  E120U300  FM1 1.86 BT50-PB30-35 0.46 Y & ¥
FMB32-60 A 32 40 66 60 22 16 150.4 E160U350 FM-2  2.32 35
FMB40-60 A 40 50 82 60 25 20.5 153.4 E200U350 FM-3  2.47 R EERAMBEIIWE, tBRELNENREM . 18.2+0.1
SK50- FMB22-35 A 22 26 47 35 18 14 154.75 E100U300 - 3.60 J!:iiﬁiﬂﬁf??%%ﬂATC%’%%%J:o Eit, EEHRESHARRRENHESE, §
FMB27-35 A 27 33 58 35 20 16 156.75 E120U300 FM-1  3.79 LEERAHIS R BB ERRE,
FMB32-35 A 32 40 66 35 22 16 158.75 E1607350-40 4.10 Notice:Using oil-feed holder, positioning block illustrated here is necessary.
FMB40-50 A 40 50 82 50 25 20.5 189.75 E200Z350-50 4.57 ThIrS] z%?monmg bI(r)](_:k can be mounted to dlfferen’ﬁ mﬁchlnesh.As the m?untlng dlfgers
FMB6OF-70 B 60 ) 129 70 25 211.75 E160U500 8.00 mz pré)peerrenmtoTr?t?néneS, it Is necessary to consult the machine manufacturer about _|
»< DEREK »< DEREK




